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FORUMS8




2.1 -1
A
) 30
t( ) 24.00
Kinematic Wave
r =a/ (t'+ b) [ a=2620.000 b=13.2100 n=0.7500 ]
0 : : I
1 0.800 53.000 62.800 76.900
2 0.700 350.000 36.000 21.900
A t(min) 30
t(min) 30.0
f 0.764
C 161.219
A (ha) 98.800
Q (m/s) 19.665
A t(min) 30
t(min) 30.0
f- 0.778
cr 118.833
A" (ha) 98.800
Q" (m/s) 22.867
) 116.3
D
r=a/ (t+b) [ a=2620.000 b=13.2100 n=0.7500 ]
2) ( )
2-1)Kinematic Wave
ot r o _tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 31.4
2 31.4 98.9 0.2003 35.4
3 35.4 94.5 0.2035 36.0
4 36.0 93.9 0.2040 36.0

FORUMS8



=a/ (t+hb)
a = 2620.000 n = 0.7500 b = 13.2100
C = 161.219 A = 0.98800(km*) f = 0.764
CAf = Cx A™?x %
= 176.7120
tp = CAfx (re)™®
= 36.0
tc = 36.0 (min)
(min)
Kinematic Wave 36.0
At =30 (min)
t =230.0 (min)
3) ( )
3-1)Kinematic Wave
ti r o tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 23.0
2 23.0 110.5 0.1927 24.9
3 24.9 107.5 0.1945 25.2
4 25.2 107.2 0.1948 25.2
=a/ (t+hb)
a = 2620.000 n = 0.7500 b = 13.2100
C = 118.833 A = 0.98800(km*) f = 0.778
CAf = Cx A™?x %
= 129.4116
tp = CAfx (re)™™
=25.2
tc = 25.2 (min)
(min)
Kinematic Wave 25.2
At =30 (min)

4)

t =30.0 (min)

T=C (AM100)* re™®

re:

(min)

F R30 (mm/hr)
161.2186
98.800 (ha)
0.7636

FORUMS8




R30 = a / (ti™+ b)
a = 2620.000 n = 0.7500 b = 13.2100

t
t
ti r ro® tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 31.4
2 31.4 98.9 0.2003 35.4
3 35.4 94.5 0.2035 36.0
4 36.0 93.9 0.2040 36.0
R30 = a / (ti't b)
= 93.8 (mm/hr)
30
Q30 = 1/360 F R30 A
= 19.665 (m/s)
F: = 0.7636
A = 98.800 (ha)
5) ( )
( )
)
T- = C- (A-/loo)o.zz re-—o.as
T (min)
re": = F* R30" (mm/hr)
c": = 118.8330
A" = 98.800 (ha)
F*o: = 0.7778
R30" = a / (ti't b)
a = 2620.000 n = 0.7500 b = 13.2100
t
t
ti r o tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 23.0
2 23.0 110.5 0.1927 24.9
3 24.9 107.5 0.1945 25.2
4 25.2 107.2 0.1948 25.2

R30" = a / (ti*+ b)

FORUMS8




= 107.1 (mm/hr)

30
Q30" = 1/360 F* R30" A"
= 22.867 (m/s)

F*
A"

0.7778
98.800 (ha)

030"/Q30 = 116.3 (%)

6) ( )
@)
Q= —— +f-Tn-A
360 !
PRHERELE 0. 764
JRikimAEA © 98.800 (ha)
- r In Q
n TN | (/b r m/hr)y | (@/s)
1 30 100.66 100.66 100.66 21.09
2 60 75.36 150.71 50.05 1049
3 90 61.75 185.25 34.53 7.24
4 120 52.97 211.86 26.61 5.58
5 150 46.73 233.63 21.77 4.56
6 180 42.02 252.12 1849 3.87
7 210 3832 268.23 16.11 3.38
8 240 35.32 282.53 14.31 3.00
9 270 32.82 205.42 1289 2170
10 300 30.72 307.17 11.75 2.46
11 330 28.91 317.98 10.80 2.26
12 360 27.33 327.99 10.01 2.10
13 390 25.95 337.33 9.34 1.96
14 420 24.72 346.08 8.76 1.83
15 450 23.62 354.33 8.25 1.73
16 480 22.63 362.13 7.80 1.63
17 510 21.74 369.54 7.40 1.55
18 540 20.92 376.59 7.05 1.48
19 570 20.17 383.32 6.73 1.41
20 600 19.49 389.76 6.44 1.35
21 630 18.85 395.94 6.18 1.30
22 660 18127 401.89 5.94 1.25
23 690 17.72 407.61 5.72 1.20
24 720 17.21 413.13 5.52 1.16
25 750 16.74 418.46 5.33 1.12
26 780 16.29 423.62 5.16 1.08
27 810 15.87 428.62 5.00 1.05
28 840 15.48 433.47 4.85 1.02
29 870 15.11 438.17 4.71 0.99
30 900 14.76 44275 458 0.96
31 930 14.43 447.20 4.45 0.93
2 960 14.11 451.54 4.34 0.91
33 990 13.81 455.77 4.23 0.89
34 1020 13153 459.89 412 0.86
35 1050 13.25 463.91 4.03 0.84
36 1080 13.00 467.85 3.93 0.82
37 1110 12075 471.69 3.84 0.81
38 1140 1251 475.45 3.76 0.79
39 1170 12.29 479.13 3.68 0.77
40 1200 12.07 482.74 3.60 0.76
41 1230 11.86 486.27 3.53 0.74
42 1260 1166 489.73 3.46 0.73
43 1290 11.47 493.13 3.40 0.71
44 1320 11.28 496.46 3.33 0.70
45 1350 11,11 499.73 3.07 0.69
46 1380 10.93 502.95 3021 0.67
47 1410 10.77 506.11 3.16 0.66
48 1440 10.61 509.21 3.10 0.65

FORUMS8




BRER (hREHD)

120+

100 1 100. 658
= 80
£
— 60—
£
&
IE
& 40+

20

[ I [ | [ |
250 500 750 1000 1250 1500
R t ()
95— WENAFOTSD
21.004

20
15
~
&
&)
10

5

T T I | ]
b 10 15 20 25

Refesfel £ (hr)

FORUMS8



o BREEAAHHEE
50 ) 90.329
40
E
£
ol 30
2 i
20+
10
| | | | |
5 10 15 20 25
B (hr)
7 ( )
@
0= . f-Tn-A
360 "
PRHAGRESL 0,778
T EFEA ¢ 98.800 (ha)
- r In Q
n TMIN) | sy nor n/hry | (@i/s)
1 30 100.66 100.66 100.66 21.49
2 60 75.36 150.71 50.05 10.69
3 90 61.75 185.25 34.53 7.37
4 120 52.97 211.86 26.61 5.68
5 150 46.73 233.63 21.77 4.65
6 180 42.02 252.12 18.49 3.95
7 210 38.32 268.23 16.11 3.44
8 240 35.32 282.53 14.31 3.05
9 270 32.82 205.42 12.89 2.75
10 300 30.72 307.17 11.75 2.51
1 330 28.91 317.98 10.80 2.31
) 360 27.33 327.99 10.01 2.14
13 390 25.95 337.33 9.34 1.99
14 420 24.72 346.08 8.76 1.87
15 450 23.62 354.33 8.25 1.76
16 480 22.63 362.13 7.80 1.67
17 510 21.74 369.54 7.40 1.58
18 540 20.92 376.59 7.05 1.51
19 570 20.17 383.32 6.73 1.44
20 600 19.49 389.76 6.44 1.38
21 630 18.85 395.94 6.18 1.32
22 660 18.27 401.89 5.94 1.27
23 690 17.72 407.61 5.72 1.22
24 720 17.21 413.13 5.52 1.18
25 750 16.74 418.46 5.33 1.14
26 780 16.29 423.62 5.16 1.10
27 810 15.87 428.62 5.00 1.07
28 840 15.48 433.47 4.85 1.03
29 870 15.11 438.17 471 1.00
30 900 14.76 442.75 4.58 0.98
31 930 14.43 447.20 4.45 0.95
2 960 14.11 451.54 4.34 0.93
33 990 13.81 455.77 4.23 0.90
34 1020 13.53 459.89 4.12 0.88
35 1050 13.25 463.91 4.03 0.86
36 1080 13.00 467.85 3.93 0.84
37 1110 12.75 471.69 3.84 0.82
38 1140 12.51 475.45 3.76 0.80
39 1170 12.29 479.13 3.68 0.79

FORUMS8




- r In Q
n TN | (/) nor m/hr)y | (/s)
40 1200 12.07 482.74 3.60 0.77
41 1230 11.86 486.27 3.53 0.75
42 1260 11.66 489.73 3.46 0.74
43 1290 11.47 493.13 3.40 0.73
44 1320 11.28 496.46 3.33 0.71
45 1350 11.11 499.73 3.27 0.70
46 1380 10.93 502.95 3.21 0.69
47 1410 10.77 506.11 3.16 0.67
48 1440 1061 509.21 3.10 0.66
120 BREEY (hREhL)
100+ — 100,658
—~ 80
£
— 60_
o
=
I.E
& 40—
20
[ [ | | | |
250 500 150 1000 1250 1500
BEHR t ()
NS KRdS57
25—
21. 488
204
% 15
g
(¢
1
5_.
| [ | | |
5 10 15 2 2%

fkfeeEra t (hr)

FORUMS8



60— EEEIRE R 2 R IR E
50 — 50329
40—
E
E
ol 30
<y L
20—
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B (hr)

FORUMS8
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2.2 -2
A
) 30
t( ) 24.00
Kinematic Wave
r=a/ (t+b) [ a=2620.000 b=13.2100 n=0.7500 ]
No f c § ( g\
1 0.800 53.000 909.600 919.900
2 0.700 350.000 547.400 537.100
A t(min) 30
t(min) 30.0
T 0.762
C 164.584
A (ha) 1457.000
Q (m/s) 209.584
A t(min) 30
t(min) 30.0
fr 0.763
cr 162.484
A" (ha) 1457.000
Q" (m/s) 211.426
™) 100.9
D
r=a/ (t'+ b) [ a=2620.000 b=13.2100 n=0.7500 ]
2) ( )
2-1)Kinematic Wave
_ti r o _tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 58.0
2 58.0 76.6 0.2191 71.5
3 71.5 69.3 0.2268 74.0
4 74.0 68.2 0.2282 74.4
5 74.4 68.0 0.2284 74.5

FORUMS8




- 11 -

a/ (t'+ b)

2620.000 n = 0.7500 b = 13.2100

C = 164.584 A = 14.57000(km*) f = 0.762
CAF = Cx A™#x 7

326.2711

tp = CAfx (rc)™®

=74.5

tc = 74.5 (min)

(min)
Kinematic Wave 74.5
At =30 (min)
t =230.0 (min)
3) ( )
3-1)Kinematic Wave
_ ti r o _tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 57.2
2 57.2 77.0 0.2186 70.4
3 70.4 69.8 0.2262 72.8
4 72.8 68.7 0.2276 73.3
5 73.3 68.5 0.2278 73.3
=a/ (t+b)

2620.000 n = 0.7500 b = 13.2100

C = 162.484 A = 14.57000(km*) f = 0.763
CAf = Cx A™x £

322.0044

tp = CAfx (rc)™”

= 73.3

tc = 73.3 (min)

(min)

Kinematic Wave 73.3

>
~+
1"

30 (min)
30.0 (min)

~+
1

4) ( )

T=C (AM100)°% re™*

T: (min)

re: = F R30 (mm/hr)
164.5839
1457.000 (ha)
0.7624

(@]
1"

m >
1

FORUMS8
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5)

R30 = a / (ti™+ b)
a = 2620.000 n = 0.7500 b = 13.2100

t
t
ti r ro® tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 58.0
2 58.0 76.6 0.2191 71.5
3 71.5 69.3 0.2268 74.0
4 74.0 68.2 0.2282 74.4
5 74.4 68.0 0.2284 74.5
R30 = a / (ti'+ b)
= 67.9 (mm/hr)
30
Q30 = 1/360 F R30 A
= 209.584 (m’/s)
F: = 0.7624
A = 1457.000 (ha)
( )
( )
a)
T- - C- (A-/100)0.22 re--O.SS
T" : (min)
re": = F" R30" (mm/hr)
cr: = 162.4844
A" = 1457.000 (ha)
F* : = 0.7631

R30" = a / (ti*+ b)
a = 2620.000 n = 0.7500 b = 13.2100

FORUMS8



- 13 -

t
t
ti r 0.35 tp
(min) (mm/hr) (min)
1 10.0 139.1 0.1778 57.2
2 57.2 77.0 0.2186 70.4
3 70.4 69.8 0.2262 72.8
4 72.8 68.7 0.2276 73.3
5 73.3 68.5 0.2278 73.3
R30" = a / (ti'+ b)
= 68.5 (mm/hr)
30
Q30" = 1/360 F" R30" A"
= 211.426 (n'/s)
F*: = 0.7631
A" - = 1457.000 (ha)
Q30°/Q30 = 100.9 (%)
6) ( )
@
Q= L iImea
360 !
FEHRERE ¢ 0.762
PRIREAEA © 1457.000 (ha)
. r In Q
n TN | mnshry r n/hr) | (n/s)
1 30 100.66 100.66 100.66 310.60
2 60 75.36 150.71 50.05 154.45
3 90 61.75 185.25 34.53 106.56
4 120 52.97 211.86 26.61 82.13
5 150 46.73 233.63 21.77 67.17
6 180 42.02 252.12 18.49 57.04
7 210 38.32 268.23 16.11 49.71
8 240 35.32 282.53 14.31 44.15
9 270 32.82 295.42 12.89 39.78
10 300 30.72 307.17 11.75 36.25
11 330 28.91 317.98 10.80 33.34
12 360 27.33 327.99 10.01 30.90
13 390 25.95 337.33 9.34 28.81
14 420 24.72 346.08 8.76 27.02
15 450 23.62 354.33 8.25 25.45
16 480 22.63 362.13 7.80 24.07
17 510 21.74 369.54 7.40 22.85
18 540 20.92 376.59 7.05 21.76
19 570 20.17 383.32 6.73 20.77
20 600 19.49 389.76 6.44 19.88
21 630 18.85 395.94 6.18 19.07
22 660 18.27 401.89 5.94 18.33
23 690 17.72 407.61 5.72 17.66
24 720 17.21 413.13 5.52 17.03
25 750 16.74 418.46 5.33 16.46
26 780 16.29 423.62 5.16 15.92
27 810 15.87 428.62 5.00 15.42
28 840 15.48 433.47 4.85 14.96

FORUMS8




- 14 -

- r In Q

n TN | (/) nor m/hr)y | (/s)
29 870 15.11 438.17 4.71 14.53
30 900 14.76 442.75 4.58 14.12
31 930 14.43 447.20 4.45 13.74
2 960 14.11 451.54 4.34 13.38
33 990 13181 455.77 4.23 13.04
34 1020 13.53 459.89 4.12 12.72
35 1050 13.25 463.91 4.03 12.42
36 1080 13.00 467.85 3.93 12.13
37 1110 12075 471.69 3.84 11.86
38 1140 12,51 475.45 3.76 11.60
39 1170 12.29 479.13 3.68 11.36
40 1200 12.07 482.74 3.60 11.12
41 1230 11.86 486.27 3.53 10.90
42 1260 11.66 489.73 3.46 10.69
43 1290 11.47 493.13 3.40 10.48
44 1320 11.28 496.46 3.33 10.28
45 1350 1111 499.73 3,27 10.10
46 1380 10.93 502.95 3.21 9.92
47 1410 10.77 506.11 3.16 9.74
48 1440 1061 509.21 3.10 9.58
120 BREEY (hREhL)
100 — 100. 658

—~ 8-

£

£

— 60_

o

=

I.E

& 40
20

[ [ [ | | ]
250 500 750 1000 1250 1500

e t (9)

FORUMS8




- 15 -

)

FENA RIS

350
0 310. 604
250
2004
E
a
g 150-]
100
50
[ [ [
b 10 15
HeiEasRE t (hr)
o BB HHEE
50 — 50.329
40
e
E
s 307
e i
20—
10—
| | |
5 10 15
R (hr)
( )
@
Q= —— . feTn-a
360 "
TEHARESL ¢ 0.763
PRI FEA © 1457.000 (ha)
; r In Q
n T | mnshr) nor mn/hr) | (n/s)
1 30 100.66 100.66 100.66 310.89
2 60 75.36 150.71 50.05 154.60
3 90 61.75 185.25 34.53 106.66
2 120 52.97 211.86 26.61 82.20
5 150 46.73 233.63 21.77 67.24
6 180 42.02 252.12 18.49 57.10
7 210 38.32 268.23 16.11 49.76
8 240 35.32 282.53 14.31 44.19
9 270 32.82 295.42 12.89 39.81
10 300 30.72 307.17 11.75 36.28

FORUMS8
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- r In Q

n TN | (/) nor m/hr)y | (/s)
11 330 28.91 317.98 10.80 33.37
12 360 27.33 327.99 10.01 30.92
13 390 25.95 337.33 9.34 2884
14 420 24.72 346.08 8.76 27.04
15 450 23.62 354.33 8.25 25.48
16 480 22.63 362.13 7.80 24.10
17 510 21.74 369.54 7.40 22.87
18 540 20.92 376.59 7.05 21.78
19 570 20017 383.32 6.73 20.79
20 600 19.49 389.76 6.44 1990
21 630 18.85 395.94 6.18 19.09
22 660 1827 401.89 5.94 18.35
23 690 17.72 407.61 5.72 17.67
24 720 17.21 413.13 5.52 17.05
25 750 16.74 418.46 5.33 16.47
26 780 16.29 423.62 5.16 15.94
27 810 15.87 428.62 5.00 15.44
28 840 15.48 433.47 4.85 14.97
29 870 15.11 438.17 4.71 14.54
30 900 14.76 442.75 4.58 14.13
31 930 14.43 44720 4.45 13.75
2 960 14.11 451.54 4.34 13.39
33 990 13.81 455.77 4.23 13.05
34 1020 13.53 459.89 4.12 12.74
35 1050 13.25 463.91 4.03 12043
36 1080 13.00 467.85 3.93 12.15
37 1110 12.75 471.69 3.84 11.87
38 1140 1251 475.45 3.76 11.61
39 1170 12029 47913 3.68 11.37
40 1200 12.07 482.74 3.60 11.13
41 1230 11.86 486.27 3.53 10.91
42 1260 11.66 489.73 3.46 10.70
43 1290 11.47 493.13 3.40 1049
44 1320 11.28 496.46 3.33 10.29
45 1350 11.11 499.73 3.27 10.11
46 1380 10.93 502.95 3.21 9.93
47 1410 10.77 506.11 3.16 9.75
48 1440 1061 509.21 3.10 9.59
120 BRERY (hRERL)
100+ — 100,658

—~ 80

£

— 60_.

X

=

I'E

& 40
204

[ [ | | | |
250 500 150 1000 1250 1500

R t ()

FORUMS8
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350+
300+
250+
% 200~

(/)
e} 150

n3

100

BN KOS5

310. 892

60

50

40-

B&Eﬁ%(mm)
T

20

f T
10 15

fefmrfel € (hr)

F el ¢ 9 i e R

50.329

B (hr)

FORUMS8
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3
3.1 A
1
A
Qpc(m’/s) 11.919
Q30(m/s) 19.665
Qpc / Q30 0.606
150 BRUER GRE L-HER1/3E)
—~100-
E
i
pil
oy
| | | | | |
250 500 750 1000 1250 1500
Rt (D)
2) Qpc
Qpc = 11.919 (m/s)
3)30 Q30

Qpc < Q30 (11.919 < 19.665)
Qpc/Q30 = 0.606

Q30 :30

(m°/s)

FORUMS8
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4) n ( )
Rn = Qpc/(A F) 360

11.919/(98.800 0.764) 360

56.878 (mm/hr)

Tn = C (A/100)** (F Rn)™*
= 161.219 (98.800/100)** (0.764 56.878)°
= 42.957 (min)

Tn : (min)
Rn : n (mm/hr)
: (ha)
Fo: (ha)
Rn n
3
5) h
h = Qpc/A
= 11.919/98.800
= 0.121 (m/s/ha)
Qpc : (m/s)
A (ha)
6)Q30

gpc30® = Q30 (a* /(A F)
= 19.665 (15.590 0.714)/(98.800 0.764)
= 2.902 (m/s)

a : (ha)
ay : (ha)
a" : (atay) (ha)
f :
A : (ha)
F
7 1/n

gpe3® = Qpc (@" /(A F)
11.919 (15.590 0.714)/(98.800 0.764)
1.759 (m*/s)

a : = 15.590 (ha)
ay : = 0.000 (ha)

a" : (atay) (ha)

f :

A (ha)

F

(gpc307)

(gpe3)

FORUMS8
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8)

30

ap
ap
ap

c30
c30
c30

apc
ay3

1
= gpc30* - qy30
= 2.902 - 0.000
= 2.902 (m/s)
30": (m’/s)
0 : (m'/s)

gpc30® = Qpc30 (a* /(A F)

Q30 :

= 19.665 (15.590 0.798)/(98.800 0.764)

2.902 (m’/s)

30 m’/s)
(ha)

(ha)
(ha)
(atay) (ha)

qy30 = 1/360 f* ry30 ay

rc

£
ry3
ay

ay=

f:

0 - (mm/hr)
: (ha)

0 qy30°= 0
gpc30 360/(f" a)

2.902 360/(0.798 15.590)
83.963 (mn/hr)

(ha)

(qpc30)

rc

FORUMS8
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ri =a/ (ti't b)

A(ha) 15.590

f 0.798

ti(min) 56.660

ti ri(mm/hr) 77.373
rc(mm/hr) 83.963
Q(m/s) 2.902

@) 4157.917

Ve=(ri-rc/72) 60 ti F A 1/360
=( 77.373 - 83.963 /2 ) 60 56.660 0.798 15.590 1/360
=4157.917 (")

Ve : )

ri : ti (mm/hr)
rc : (mm/hr)

ti (min)

f :

A (ha)

a,b,n :

a = 2620.000, n =0.7500, b =13.2100

rc
rc=(360 Qo)/(f A)

Qo : (m*/s)
rc=(360 2.902)/(0.80 15.590) = 83.963 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/dti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+ b)Y -rc c/2
=a ¢ (ti"+b)-a c n ti/ @i"+b)Y-rc c/2
=a ¢ {(1-n) (ti"+b)}/ (ti"+Db)’-rc c/2

c=f A/60
rc (ti"+b)Y -2 a {(1-n) ti"+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a =0
X ti
x={-{rc b-a @-nN}+v{{rc b-a A@-nN¥-rc b (c b-2 a)}}rc
{rc b-a (1-n)}={83.963 13.2100-2620.000 (1-0.7500)} = 454.156
x={-{454.156} + v {{454.156}° -83.963 13.2100 (83.963 13.2100 - 2 2620.000)}}/83.963

FORUMS8
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=20.652

tizexp( In(x)/n )
=exp( In(20.652 )/0.7500 )
=56.660 (min)

ri=za / (ti"+ b)
=2620.000/(56.660°"" +13.2100)
=77.373 (mm/hr)

FORUMS8
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9)

2
qpc3 (n=3)
gpc3 (gpc3)
gpc3 = gpe3” - qy3
=1.759 - 0.000
= 1.759 (m'/s)
gpc3”: (m*/s)
qy3 : (m/s)
gpc3® = Qpc (@ /(A F)

11.919 (15.590 0.798)/(98.800 0.764)
1.759 (m/s)

Qpc : m’/s)
: (ha)
a : (ha)
ay : (ha)
a": (atay) (ha)
f -

qy3" = 1/360 f* ry3 ay
L
ry3 : (mm/hr)
ay - (ha)

ay= 0 qy3"= 0

rc

rc = gpc3 360/(f" a)
1.759 360/(0.798 15.590)
50.890 (mm/hr)

a: (ha)
f:

ri =a/ (tit b)

A(ha)

15.590

0.798

ti(min)

43.685

ti ri(mm/hr)

52.360

rc(mm/hr)

50.890

Q(m’/s)

1.759

()

2437.947

FORUMS8



- 24 -

Ve=(ri-rc/2) 60 ti £ A 1/360
=( 52.360 - 50.890 / 2 ) 60 43.685 0.798 15.590 1/360
=2437.947 ()

Ve : )

ri : ti (mm/hr)
rc : (mm/hr)

ti : (min)

f :

A - (ha)

a,b,n :

a = 1112.700, n =0.7200, b =6.0790

rc
rc=(360 Qo)/(f A)

Qo : (m’/s)
rc=(360 1.759)/(0.80 15.590) = 50.890 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/Zdti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+b)’ -rc c/2
=a c (ti"+b)-a c n i/ (ti"+ b)Y -rc c/2
=a ¢ {(1-n) (ti"+Db)}/ (ti"+Db) -rc c/2
c=f A/60

rc (ti"+b)Y -2 a {(@d-n) ti'+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a)=0
X ti
x={-{rc b-a @-mM}+v{{rc b-a @-nN¥-rc b (rc b-2 a)}}/rc
{rc b-a (1-n)}=4{50.890 6.0790-1112.700 (1-0.7200)} = -2.193

x={-{-2.193} + v {{-2.193} -50.890 6.0790 (50.890 6.0790 - 2 1112.700)}}/50.890

=15.172

ti=zexp( In(x)/n )
=exp( In(15.172 )/0.7200 )
=43.685 (min)

riza / (ti'+ b)
=1112.700/(43.685"™ +6.0790)
=52.360 (mm/hr)

FORUMS8



- 25 -

10) 3
gpch (m=5)
qpcs (gpc5)
gpc5 = gpes” - qys
= 1.759 - 0.000

1.759 (m*/s)

gpc5”: (m*/s)
ays (n'/s)
qpes™ = Qpe (@* /(A F)

11.919 (15.590 0.798)/(98.800 0.764)
1.759 (m/s)

Qpc : (m’/s)
: (ha)
a (ha)
ay - (ha)
a" : (atay) (ha)
f -

qy5 = 1/7360 f* ry5 ay
L
ry5 : (mm/hr)
ay - (ha)

ay= 0 qy5"= 0

5 rc
rc = gpc5 360/(f" a)

1.759 360/(0.798 15.590)

50.890 (mm/hr)

a: (ha)
f:

ri =a/ (tit b)

A(ha) 15.590

f 0.798

ti(min) 59.302

ti ri(mn/hr) 52.766

rc(mm/hr) 50.890

Q(m/s) 1.759

) 3359.396

FORUMS8




- 26 -

Ve=(ri-rc/2) 60 ti £ A 1/360
=( 52.766 - 50.890 / 2 ) 60 59.302 0.798 15.590 1/360
=3359.396 (%)

Ve : )

ri : ti (mm/hr)
rc : (mm/hr)

ti : (min)

f :

A - (ha)

a,b,n :

a = 1547.100, n =0.7400, b =8.8050

rc
rc=(360 Qo)/(f A)

Qo : (m’/s)
rc=(360 1.759)/(0.80 15.590) = 50.890 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/Zdti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+b)’ -rc c/2
=a c (ti"+b)-a c n i/ (ti"+ b)Y -rc c/2
=a ¢ {(1-n) (ti"+Db)}/ (ti"+Db) -rc c/2

c=f A/60
rc (ti"+b)Y -2 a {(@d-n) ti'+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a)=0
X ti
x={-{rc b-a @-mM}+v{{rc b-a @-nN¥-rc b (rc b-2 a)}}/rc
{rc b-a (@ -n)}={50.890 8.8050-1547.100 (1-0.7400)} = 45.844

x={-{45.844} + v {{45.844} -50.890 8.8050 (50.890 8.8050 - 2 1547.100)}}/50.890

=20.515

ti=zexp( In(x)/n )
=exp( In(20.515 )/0.7400 )
=59.302 (min)

riza / (ti'+ b)
=1547.100/(59-302"™" +8.8050)
=52.766 (mm/hr)

FORUMS8



- 27 -

11)

gpc

Qpe :
X -

A - Qpc

rc = gpc 360/(f" a)

= 54.423 (mm/hr)

qpc

Qpc a"/A-1/360 f"*
11.919 15.590/98.800-1/360 0.716 198.335 0.000
1.881 (m/s)

r ay

(m’/s)

(ha)

(ha)
(atay) (ha)

rc

(ha)

(ha)

1.881 360/(0.798 15.590)

a: (ha)
f:
( )
A
ri =a/ (ti't b)
A(ha) 15.590
f 0.798
ti(min) 101.480
ti ri(mm/hr) 57.986
rc(mm/hr) 54.423
Q(m*/s) 1.881
() 6475.487
Ve=(ri-rc/2) 60 ti f A 1/360

=( 57.986 - 54.423 / 2 ) 60 101.480 0.798 15.590 1/360
=6475.487 ()

Ve :

ri :

rc :

ti :

f

A
a,b,n :

(™)

(ha)

ti

(min)

(mm/hr)

a = 2620.000, n =0.7500, b =13.2100

(mm/hr)

FORUMS8
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rc
rc=(360 Qo)/(f A)

Qo : (m’/s)
rc=(360 1.881)/(0.80 15.590) = 54.423 (mm/hr)

Vi=(@/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/dti=0
dvi/dtiz=a ¢ (ti"+b) -a ¢ ti n ti"/ (ti"+ b)’ - rc c/2
=a c (ti"+b)-a c n i/ (ti"+ b)Y -rc c/2
=za ¢ {Q-n) (ti"+Db)}/ (ti"+b)°-rc c/2

c=f A/60
rc (ti"+b)Y -2 a {(@-n) ti'+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a)=0
X ti
x={-{rc b-a A-nN}+v{{rc b-a A@-nN¥-rc b (rc b-2 a)}}rc
{rc b-a (@ -n)}={54.423 13.2100-2620.000 (1-0.7500)} = 63.928

x={-{63.928} + v {{63.928} -54.423 13.2100 (54.423 13.2100 - 2 2620.000)}}/54.423

=31.973

ti=zexp( In(x)/n )
=exp( In(31.973 )/0.7500 )
=101.480 (min)

riza / (ti't+ b)
=2620.000/(101.480""" +13.2100)
=57.986 (mm/hr)

FORUMS8
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3.2 B
D
B
Qpc(m/s) 98.730
Q30(1m/s) 209.584
Qpc 7 Q30 0.471
150 BRUKR (RE Lf-HEXR1/26)
1254
—~ 100
<
=
E
o= 75+
1
#
& 50 \\\
25— \
| | [ | | 1
250 500 750 1000 1250 1500
HiresE t (9)
2) Qpc

Qpc = 98.730 (m’/s)

3)30 Q30
Qpc < Q30 (98.730 < 209.584)
Qpc/Q30 = 0.471

Q30 :30 (m’/s)

FORUMS8
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4) n ( )
Rn = Qpc/(A F) 360

98.730/(1457.000 0.762) 360

31.996 (mm/hr)

Tn = C (A/100)** (F Rn)™*
= 164.584 (1457.000/100)** (0.762 31.996)*
= 97.005 (min)

Tn : (min)
Rn : n (mm/hr)
: (ha)
Fo: (ha)
Rn n
2
5) h
h = Qpc/A

= 98.730/1457.000

= 0.068 (m‘/s/ha)

Qpc : (m/s)

A (ha)
6)Q30 (gpc307)

gpc30® = Q30 (a* /(A F)
= 209.584 (15.590 0.714)/(1457.000 0.762)
= 2.100 (m/s)

a : (ha)
ay : (ha)
a" : (atay) (ha)
£ -
A (ha)
F
7 1/n (gpc2T)

gpc2® = Qpc (@” /(A F)
98.730 (15.590 0.714)/(1457.000 0.762)
0.989 (m’/s)

a : = 15.590 (ha)
ay : = 0.000 (ha)

a" : (atay) (ha)

f :

A (ha)

-

FORUMS8
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8) 1
gpc30
Qpc30 (qpc30)
gpc30 = gpc30® - qy30
= 2.100 - 0.000

2.100 (m*/s)

qpc30”: (m’/s)
qy30 : (m/s)

gpc30® = Qpc30 (a* /(A F)
= 209.584 (15.590 0.798)/(1457.000 0.762)
2.100 (m’/s)

Q30 : 30 (m'/s)
: (ha)

a : (ha)

ay : (ha)

a": (atay) (ha)

f -

qy30 = 1/360 f* ry30 ay

f* o
ry30 : (mm/hr)
ay (ha)
ay= 0 qy30°= 0
30 rc
rc = qpc30 360/(f* a)
= 2.100 360/(0.798 15.590)
= 60.771 (mm/hr)
a: (ha)
f:

FORUMS8
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ri =a/ (ti't b)

A(ha) 15.590

f 0.798

ti(min) 87.953

ti ri(mm/hr) 62.485

rc(mm/hr) 60.771
Q(m/s) 2.100

) 5853.870

Ve=(ri-rc/72) 60 ti F A 1/360
=( 62.485 - 60.771 /2 ) 60 87.953 0.798 15.590 1/360
=5853.870 (m°)

Ve : )

ri : ti (mm/hr)
rc : (mm/hr)

ti (min)

f :

A (ha)

a,b,n :

a = 2620.000, n =0.7500, b =13.2100

rc
rc=(360 Qo)/(f A)

Qo : (m*/s)
rc=(360 2.100)/(0.80 15.590) = 60.771 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/dti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+ b)Y -rc c/2
=a ¢ (ti"+b)-a c n ti/ @i"+b)Y-rc c/2
=a ¢ {(1-n) (ti"+b)}/ (ti"+Db)’-rc c/2

c=f A/60
rc (ti"+b)Y -2 a {(1-n) ti"+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a =0
X ti
x={-{rc b-a @-nN}+v{{rc b-a A@-nN¥-rc b (c b-2 a)}}rc
{rc b-a (1-n)}={60.771 13.2100-2620.000 (1-0.7500)} = 147.785
x={-{147.785} + v {{147.785} -60.771 13.2100 (60.771 13.2100 - 2 2620.000)}}/60.771

FORUMS8



- 33 -

=28.720

tizexp( In(x)/n )
=exp( In(28.720 )/0.7500 )
=87.953 (min)

ri=za / (ti"+ b)
=2620.000/(87.953"™" +13.2100)
=62.485 (mm/hr)

FORUMS8




- 34 -

9)

2
gqpc2 (n=2)
gpc2 (apc2)
gpc2 = gpc2” - gy2
= 0.989 - 0.000
= 0.989 (m'/s)
qpc2°: m'/s)
ay2 : (m/s)
gpc2® = Qpc (@ /(A F)

98.730 (15.590 0.798)/(1457.000 0.762)
0.989 (m*/s)

Qpc : m’/s)
: (ha)
a : (ha)
ay : (ha)
a": (atay) (ha)
f -

qy2" = 1/360 f* ry2 ay
L
ry2 : (mm/hr)
ay - (ha)

ay= 0 qy2°= 0

rc

rc = gpc2 360/(f" a)
0.989 360/(0.798 15.590)
28.628 (mm/hr)

a: (ha)
f:

ri =a/ (tit b)

A(ha)

15.590

0.798

ti(min)

71.073

ti ri(mm/hr)

33.784

rc(mm/hr)

28.628

Q(m’/s)

0.989

()

2869.206

FORUMS8



- 35 -

Ve=(ri-rc/2) 60 ti £ A 1/360
=(33.784 - 28.628 / 2 ) 60 71.073 0.798 15.590 1/360
=2869.206 (%)

Ve : )

ri : ti (mm/hr)
rc : (mm/hr)

ti : (min)

f :

A - (ha)

a,b,n :

a = 811.600, n =0.7000, b =4.2450

rc
rc=(360 Qo)/(f A)

Qo : (m’/s)
rc=(360 0.989)/(0.80 15.590) = 28.628 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/Zdti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+b)’ -rc c/2
=a c (ti"+b)-a c n i/ (ti"+ b)Y -rc c/2
=a ¢ {(1-n) (ti"+Db)}/ (ti"+Db) -rc c/2

c=f A/60
rc (ti"+b)Y -2 a {(@d-n) ti'+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a)=0
X ti
x={-{rc b-a @-mM}+v{{rc b-a @-nN¥-rc b (rc b-2 a)}}/rc
{rc b-a (1 -n)}={28.628 4.2450-811.600 (1-0.7000)} = -121.955

x={-{-121.955} + v {{-121.955}* -28.628 4.2450 (28.628 4.2450 - 2 811.600)}}/28.628

=19.778

ti=zexp( In(x)/n )
=exp( In(19.778 )/0.7000 )
=71.073 (min)

riza / (ti'+ b)
=811.600/(71.073"™ +4.2450)
=33.784 (mm/hr)

FORUMS8



- 36 -

10) 3
gpch (m=5)
qpcs (gpc5)
gpc5 = gpes” - qys
= 0.989 - 0.000

0.989 (m'/s)

gpc5”: (m*/s)
ays (n'/s)
qpes™ = Qpe (@* /(A F)

98.730 (15.590 0.798)/(1457.000 0.762)
0.989 (m*/s)

Qpc : (m’/s)
: (ha)
a (ha)
ay - (ha)
a" : (atay) (ha)
f -

qy5 = 1/7360 f* ry5 ay
L
ry5 : (mm/hr)
ay - (ha)

ay= 0 qy5"= 0

5 rc
rc = gpc5 360/(f" a)

0.989 360/(0.798 15.590)

28.628 (mm/hr)

a: (ha)
f:

ri =a/ (tit b)

A(ha) 15.590

f 0.798

ti(min) 123.353

ti ri(mn/hr) 35.099

rc(mm/hr) 28.628
Q:(m/s) 0.989
(@) 5316.079

FORUMS8




- 37 -

Ve=(ri-rc/2) 60 ti £ A 1/360
=( 35.099 - 28.628 / 2 ) 60 123.353 0.798 15.590 1/360
=5316.079 ()

Ve : )

ri : ti (mm/hr)
rc : (mm/hr)

ti : (min)

f :

A - (ha)

a,b,n :

a = 1547.100, n =0.7400, b =8.8050

rc
rc=(360 Qo)/(f A)

Qo : (m’/s)
rc=(360 0.989)/(0.80 15.590) = 28.628 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/Zdti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+b)’ -rc c/2
=a c (ti"+b)-a c n i/ (ti"+ b)Y -rc c/2
=a ¢ {(1-n) (ti"+Db)}/ (ti"+Db) -rc c/2

c=f A/60
rc (ti"+b)Y -2 a {(@d-n) ti'+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a)=0
X ti
x={-{rc b-a @-mM}+v{{rc b-a @-nN¥-rc b (rc b-2 a)}}/rc
{rc b-a (-n)}={28.628 8.8050-1547.100 (1-0.7400)} = -150.178

x={-{-150.178} + v {{-150.178}* -28.628 8.8050 (28.628 8.8050 - 2 1547.100)}}/28.628

=35.274

ti=zexp( In(x)/n )
=exp( In(35.274 )/0.7400 )
=123.353 (min)

riza / (ti'+ b)
=1547.100/(123.353"" +8.8050)
=35.099 (mm/hr)

FORUMS8



- 38 -

11)
gpc
gpc = Qpc a"/A-1/360 " r"" ay
= 98.730 15.590/1457.000-1/360 0.700 198.335 0.000
= 1.056 (m/s)
Qpc : (m'/s)
a : (ha)
ay : (ha)
a" (atay) (ha)
A : Qpc (ha)
£
re- (ha)
rc
rc = gpc 360/(f" a)
= 1.056 360/(0.798 15.590)
= 30.570 (mm/hr)
a: (ha)
f:
( )
B
ri =a/ (ti't b)
A(ha) 15.590
f 0.798
ti(min) 207.460
ti ri(mm/hr) 38.601
rc(mm/hr) 30.570
Q(m/s) 1.056
m) 10029.746
Ve=(ri-rc/2) 60 ti f A 1/360

=( 38.601 - 30.570 / 2 ) 60 207.460 0.798 15.590 1/360

=10

Ve :
ri :
rc :
ti :

f
A
a,

029.746 (%)

(™)

(ha)

b,n :
a = 2620.000, n =0.7500, b =13.2100

ti

(min)

(mm/hr)

(mm/hr)

FORUMS8
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rc
rc=(360 Qo)/(f A)

Qo : (m’/s)
rc=(360 1.056)/(0.80 15.590) = 30.570 (mm/hr)

Vi=(@/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a ¢ ti/(ti"+b) -rc c ti/2

dvi/dti=0
dvi/dtiz=a ¢ (ti"+b) -a ¢ ti n ti"/ (ti"+ b)’ - rc c/2
=a c (ti"+b)-a c n i/ (ti"+ b)Y -rc c/2
=za ¢ {Q-n) (ti"+Db)}/ (ti"+b)°-rc c/2

c=f A/60
rc (ti"+b)Y -2 a {(@-n) ti'+ b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a)=0
X ti
x={-{rc b-a A-nN}+v{{rc b-a A@-nN¥-rc b (rc b-2 a)}}rc
{rc b-a (1-n)}={30.570 13.2100-2620.000 (1-0.7500)} = -251.176

x={-{-251.176} + v {{-251.176}" -30.570 13.2100 (30.570 13.2100 - 2 2620.000)}}/30.570

=54.664

ti=zexp( In(x)/n )
=exp( In(54.664 )/0.7500 )
=207.460 (min)

riza / (ti't+ b)
=2620.000/(207.460""™" +13.2100)
=38.601 (mm/hr)

FORUMS8
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3.3

1
30 30
030/030
A - o T* R30" 030" )
A i < T R30 030
(ha) () (mm/h) (m*/s)
98.800 | 0.778 | 118.833 | 25.203|  107.120 22.867
116.284
98.800 | 0.764 | 161.219 | 36.041 93.841 19.665
1457.000 |  0.763 | 162.484 | 73.350 68.454 |  211.426
100.879
1457.000 |  0.762 | 164.584 | 74.525 67.921 |  200.584
2
n
h Qpc/Qn n . qpen”
Qpc Tn Rn 3 ) gpcn
/s) () (n/h) (n7/s) ) /s) (m7/s)
11.919 42.957 56.878 0.121|  0.606 30 2.902 1.759
98.730 97.005 31.996 0.068 | 0.471 30 2.100 0.989
3
1
A - ri
f ti rc Qo 3
(ha) (min) (m/hr)  (mmshr) (7s) ™)
15.590 |  0.798 56.660 77.373 83.963 2.902 | 4157.917
15.500 |  0.798 87.953 62.485 60.771 2.100 | 5853.870
2
A - ri
f ti rc Qo 3
(ha) (min) CLLLLLD T ) (7s) (™)
15.500 |  0.798 43.685 52.360 50.890 1.750 | 2437.947
15.500 |  0.798 71.073 33.784 28.628 0.989 | 2869.206
3
A - ri
f ti rc Qo 3
(ha) (min) (m/hr) | mmshr) (75) (™)
15.500 |  0.798 59.302 52.766 50.890 1.750 | 3359.396
15.500 |  0.798 123.353 35.099 28.628 0.989 | 5316.079

FORUMS8
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A - ri

f ti rc Qo s
(ha) (min) (m/hr) (b (n'7s) @)
15.590 |  0.798 101.480 57.986 54.423 1.881 | 6475.487
15.500 |  0.798 207.460 38.601 30.570 1.056 | 10029.746

FORUMS8
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4
4.1 A
1
A
-1
Qo(m'/s) 2.902
A t(min) |30
f 0.764
A(ha) 98.800
(m v(m’)
1 0.000 0.000
2 0.500 525.000
3 1.000 793.000
4 2.000 2319.000
5 2.500 2523.000
6 3.500 3957.000
7 4.500 5351.000
8 5.500 6525.000
9 6.200 7084.000
IKfL~ BB RE
6. 0 z HWL H-V
5.0
E 4.0
T
o 3.0+
% 2.0
1. 0
3 m= - T T T T T T T 1
HEDES = 0.000 Mm 1000 2000 00 4000 5000 6000 7000 8000

3000
A 2 V M3

FORUMS8
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2)

3)

1|
Im 2

Di

Hl

e

a)H=H1+1. 2D1

Q=C1 - B1 (H-H1)""
bYH1+1.2D1 < H < H1+1.8D1

ZOXMIZ DWW TIL, H=H1+1. 2D1 TOQIB L UH=H1+1. 8D1 TDOQAZ W T, Z Ol A EHEL &35,

c)H1+

Q=C2 - D1 - Bly2g (H-H1-0. 5D1)
CAFN T AEHTH E %0.85~0.90, HLARVE X02=0.62F 5,

1.8D1=H

Cl= 1.80, C2= 0.60
HEM | Biqm) DI(m)

0.000 0.450 0.450

t

(min) Qi(m/s) Qo(m’/s)

30 0.091 0.015
60 0.093 0.055
90 0.096 0.079
120 0.099 0.091
150 0.102 0.097
180 0.105 0.102
210 0.109 0.106
240 0.113 0.109
270 0.117 0.113
300 0.122 0.118
330 0.127 0.123
360 0.133 0.128
390 0.139 0.134
420 0.146 0.140
450 0.154 0.147
480 0.163 0.156
510 0.173 0.165
540 0.184 0.175
570 0.198 0.188
600 0.214 0.202
630 0.233 0.219
660 0.256 0.240
690 0.285 0.266
720 0.323 0.306
750 0.373 0.341
780 0.445 0.392
810 0.557 0.471
840 0.752 0.527
870 1.193 0.642
900 3.479 1.031
930 1.730 1.310
960 0.920 1.309
990 0.639 1.201
1020 0.494 1.093
1050 0.406 0.987
1080 0.346 0.878

FORUMS8
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4)

t
(min) Qi(m/s) Qo(m’/s)
1110 0.303 0.703
1140 0.270 0.607
1170 0.244 0.514
1200 0.223 0.363
1230 0.205 0.244
1260 0.191 0.209
1290 0.178 0.190
1320 0.168 0.177
1350 0.158 0.166
1380 0.150 0.157
1410 0.142 0.149
1440 0.136 0.142
1470 0.130 0.135
1500 0.125 0.130
1530 0.120 0.124
1560 0.115 0.119
1590 0.111 0.115
1620 0.107 0.111
1650 0.104 0.107
1680 0.100 0.104
1710 0.097 0.100
1740 0.095 0.000
N KRy 7
4_
3.479
3_
2
2
2_
o
]
310
]_
I | | T | |
5 10 15 20 25 30
GRS t (hr)
\Y
(min) Qi(m/s) Qo(m*/s) H (m) (D)
30 0.091 0.015 0.071 74.4
60 0.093 0.055 0.167 175.0
90 0.096 0.079 0.212 222.3
120 0.099 0.091 0.232 244.0
150 0.102 0.097 0.243 255.4
180 0.105 0.102 0.251 263.2
210 0.109 0.106 0.257 269.8
240 0.113 0.109 0.263 276.4
270 0.117 0.113 0.270 283.3
300 0.122 0.118 0.277 290.6

FORUMS8
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v
(min) Qi(m/s) Qo(m’/s) H (m) )
330 0.127 0.123 0.284 298.4
360 0.133 0.128 0.292 306.9
390 0.139 0.134 0.301 316.2
420 0.146 0.140 0.311 326.3
450 0.154 0.147 0.321 337.4
480 0.163 0.156 0.333 349.7
510 0.173 0.165 0.346 363.3
540 0.184 0.175 0.361 378.7
570 0.198 0.188 0.377 396.1
600 0.214 0.202 0.396 416.0
630 0.233 0.219 0.418 439.2
660 0.256 0.240 0.444 466.5
690 0.285 0.266 0.476 499.3
720 0.323 0.306 0.523 537.1
750 0.373 0.341 0.599 578.2
780 0.445 0.392 0.751 659.3
810 0.557 0.471 0.992 788.8
840 0.752 0.527 1.184 1073.8
870 1.193 0.642 1.649 1784.0
900 3.479 1.031 3.896 4509.7
930 1.730 1.310 6.154 7046.9
960 0.920 1.309 6.150 7044.3
990 0.639 1.201 5.213 6188.5
1020 0.494 1.093 4.351 5143.8
1050 0.406 0.987 3.589 4081.6
1080 0.346 0.878 2.889 3080.1
1110 0.303 0.703 1.932 2215.1
1140 0.270 0.607 1.497 1551.8
1170 0.244 0.514 1.139 1005.5
1200 0.223 0.363 0.665 613.5
1230 0.205 0.244 0.450 472.2
1260 0.191 0.209 0.405 425.3
1290 0.178 0.190 0.381 399.6
1320 0.168 0.177 0.363 380.9
1350 0.158 0.166 0.348 365.4
1380 0.150 0.157 0.335 351.8
1410 0.142 0.149 0.323 339.6
1440 0.136 0.142 0.313 328.6
1470 0.130 0.135 0.303 318.5
1500 0.125 0.130 0.295 309.3
1530 0.120 0.124 0.287 300.8
1560 0.115 0.119 0.279 293.0
1590 0.111 0.115 0.272 285.7
1620 0.107 0.111 0.266 279.0
1650 0.104 0.107 0.260 272.6
1680 0.100 0.104 0.254 266.6
1710 0.097 0.100 0.249 261.1
1740 0.095 0.000 0.000 0.0
1 1 1
HKERE A iR

10
E 20‘ \&\_‘—I—I\
E
a= 30+
M
ez 40
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30

6. 0 154
Eg -
4.0
T
o
X2,
™~ 2.0
0.0 - —
HEDES 0.000 (m)
4—
3.479
3_
@
&
o 2
-
.310
1_
T T T T 1
5 10 15 20 25
B [ (hr)
5)
A
ri =a/ (ti'+t b)
A(ha) 15.590
f 0.798
ti(min) 56.660
ti ri(mm/hr) 77.373
rc(mm/hr) 83.963
Q(m'/s) 2.902
() 4157.917

ve=(ri-rc/2) 60 ti f A 1/360
=( 77.373- 83.963/2) 60 56.660  0.798
=4157.917 (%)

Ve : ()

15.590 1/360

FORUMS8
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ri : ti (mm/hr)
rc : (mm/hr)

L (min)

f :

A (ha)

a,b,n :

a = 2620.000 , n = 0.7500 , b = 13.2100

rc
rc=(360 Qo)/(f A)
Qo : (m*/s)
rc=(360 2.902)/( 0.80 15.590) =  83.963 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a c ti/(ti"+b) -rc c ti/2

dvi/dti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+ b)Y’ -rc c/2
=a ¢ (ti"+b)-a c n ti/ @&i"+b)Y -rc c/2
=a ¢ {(1-n) (ti"+Db)}/ (ti"+Db)’-rc c/2

c=f A/60
rc (ti"+b)y -2 a {(1-n) ti'+b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a =0
X ti
x={-{rc b-a A-nN}+v{{rc b-a @-nN¥-rc b (c b-2 a)}}rc
{rc b-a (1-n)}={ 83.963 13.2100-2620.000 (1- 0.7500)} = 454.156

x={-{ 454.156} + Vv {{ 454.156} - 83.963 13.2100 ( 83.963 13.2100 - 2 2620.000)}}/ 83.963

= 20.652
tizexp( In(x)/n )
=exp( In( 20.652 )/ 0.7500 )
= 56.660 (min)
riza / (ti'+ b)
=2620.000/( 56.660°™" + 13.2100)
77.373 (mm/hr)

REHERCER R = &t x| X ()
N: )
A: (ha)

FORUMS8
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() 3 3

m'/ha 150.000 150.000
(

(ha) 190.000 190.000

) 49875.000 49875.000

FORUMS8
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4.2 B
1
B
-2
Qo(m'/s) 2.100
A t(min) |30
f 0.762
A(ha) 1457.000
(m) v(m)
1 0.000 0.000
2 0.500 525.000
3 1.000 793.000
4 2.000 2319.000
5 2.500 2523.000
6 3.500 3957.000
7 4.500 5351.000
8 5.500 6525.000
9 6.200 7084.000
KL~ B 2R E
YHWL
6.0 = H-V
5. 0+
E 4.0
I
o 3.0+
¥ 2.0
1.0
3 o= T T T T T T T ]
BEDES = 0.000 m 1000 2000 3000 4000 5000 6000 7000 8000
2 V M3

FORUMS8
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2)
C )
> Hu \\
[] DI
LJ Hi
bi I

a)H=HI1+1. 2D1

Q=C1 - B1 (H-H1)""
b)HI+1.2D1 < H < H1+1.8D1

ZDOXBINZ DWW TCIE, H=H1+1. 2D1 TOQIS L O H=H1+1. 8DI TDOQ%E AW T, Z DR &#EMIE &35,
c)H1+1.8D1=H

Q=C2 - D1 + Bly2g (H-H1-0. 5D1)

CAFN T AEHTH E %0.85~0.90, HLARVE X02=0.62F 5,
Cl= 1.80, C2= 0.60

HEM | Biqm) DI(m)
0.000 5.500 4.500
3)
t
(min) Qi(m/s) Qo(m’/s)
30 0.091 0.069
60 0.093 0.093
90 0.096 0.096
120 0.099 0.098
150 0.102 0.102
180 0.105 0.105
210 0.109 0.108
240 0.113 0.112
270 0.117 0.117
300 0.122 0.121
330 0.127 0.126
360 0.133 0.132
390 0.139 0.138
420 0.146 0.145
450 0.154 0.153
480 0.163 0.161
510 0.173 0.171
540 0.184 0.183
570 0.198 0.196
600 0.214 0.211
630 0.233 0.230
660 0.256 0.253
690 0.285 0.281
720 0.323 0.318
750 0.373 0.367
780 0.445 0.437
810 0.557 0.545
840 0.752 0.734
870 1.193 1.158
900 3.479 3.348
930 1.730 1.848
960 0.920 0.987
990 0.639 0.666
1020 0.494 0.510
1050 0.406 0.416
1080 0.346 0.353

FORUMS8
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4)

t
(min) Qi(m/s) Qo(m’/s)
1110 0.303 0.308
1140 0.270 0.274
1170 0.244 0.247
1200 0.223 0.226
1230 0.205 0.208
1260 0.191 0.193
1290 0.178 0.180
1320 0.168 0.169
1350 0.158 0.160
1380 0.150 0.151
1410 0.142 0.144
1440 0.136 0.137
1470 0.130 0.131
1500 0.125 0.125
1530 0.120 0.121
1560 0.115 0.116
1590 0.111 0.112
1620 0.107 0.108
1650 0.104 0.104
1680 0.100 0.101
1710 0.097 0.000
N Fas37
4—
3 479
3.348
3_
2
2
2_
o
M@
1-
T T T T T ]
5 10 15 20 25 30
#arsr t (hr)
v
(min) Qi(m/s) Qo(m*/s) H (m) (D)
30 0.091 0.069 0.037 38.4
60 0.093 0.093 0.044 46.7
90 0.096 0.096 0.045 47.6
120 0.099 0.098 0.046 48.6
150 0.102 0.102 0.047 49.6
180 0.105 0.105 0.048 50.7
210 0.109 0.108 0.049 51.8
240 0.113 0.112 0.051 53.1
270 0.117 0.117 0.052 54.4
300 0.122 0.121 0.053 55.8
330 0.127 0.126 0.055 57.4

FORUMS8



- B2 -

\Y
(min) Qi(m/s) Qo(m’/s) H (m) )
360 0.133 0.132 0.056 59.0
390 0.139 0.138 0.058 60.9
420 0.146 0.145 0.060 62.9
450 0.154 0.153 0.062 65.1
480 0.163 0.161 0.064 67.5
510 0.173 0.171 0.067 70.3
540 0.184 0.183 0.070 73.3
570 0.198 0.196 0.073 76.8
600 0.214 0.211 0.077 80.9
630 0.233 0.230 0.081 85.6
660 0.256 0.253 0.087 91.1
690 0.285 0.281 0.093 97.8
720 0.323 0.318 0.101 106.1
750 0.373 0.367 0.111 116.9
780 0.445 0.437 0.125 131.3
810 0.557 0.545 0.145 152.0
840 0.752 0.734 0.176 185.3
870 1.193 1.158 0.239 251.1
900 3.479 3.348 0.485 509.7
930 1.730 1.848 0.327 342.9
960 0.920 0.987 0.215 225.9
990 0.639 0.666 0.165 173.7
1020 0.494 0.510 0.138 145.3
1050 0.406 0.416 0.121 126.9
1080 0.346 0.353 0.108 113.8
1110 0.303 0.308 0.099 103.9
1140 0.270 0.274 0.091 96.0
1170 0.244 0.247 0.085 89.7
1200 0.223 0.226 0.080 84.3
1230 0.205 0.208 0.076 79.8
1260 0.191 0.193 0.072 76.0
1290 0.178 0.180 0.069 72.6
1320 0.168 0.169 0.066 69.6
1350 0.158 0.160 0.064 67.0
1380 0.150 0.151 0.062 64.6
1410 0.142 0.144 0.059 62.4
1440 0.136 0.137 0.058 60.5
1470 0.130 0.131 0.056 58.7
1500 0.125 0.125 0.054 57.1
1530 0.120 0.121 0.053 55.5
1560 0.115 0.116 0.052 54.1
1590 0.111 0.112 0.050 52.8
1620 0.107 0.108 0.049 51.6
1650 0.104 0.104 0.048 50.5
1680 0.100 0.101 0.047 49.4
1710 0.097 0.000 0.000 0.0
b ol S & 2. | ] | |
HOKERE At H iR

10
=20 \ﬂﬂ‘LL
E
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ez 40
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E
T
0.485
ﬂ
S
0.0 —
HEDRRE 0.000 (m)
4—
3.479
3.348
3_
@
E
o 2
e
1-
T T I T I |
5 10 15 20 25 30
B R (hr)
5)
B
ri =a/ (ti'+b)
A(ha) 15.590
f 0.798
ti(min) 87.953
ti ri(mm/hr) 62.485
rc(mm/hr) 60.771
Q(m/s) 2.100
() 5853.870

ve=(ri-rc/2) 60 ti f A 1/360
=( 62.485 - 60.771/2) 60 87.953  0.798  15.590 1/360
=5853.870 (")

Ve : ()

FORUMS8
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ri : ti (mm/hr)
rc : (mm/hr)

L (min)

f :

A (ha)

a,b,n :

a = 2620.000 , n = 0.7500 , b = 13.2100

rc
rc=(360 Qo)/(f A)
Qo : (m*/s)
rc=(360 2.100)/( 0.80 15.590) =  60.771 (mm/hr)

Vi=(a/(ti" + b) - rc/2) 60 ti f A 1/360
=(a/(ti" + b) - rc/2) c ti
=a c ti/(ti"+b) -rc c ti/2

dvi/dti=0
dvi/dti=a ¢ (ti"+b)-a c ti n ti"/ (ti"+ b)Y’ -rc c/2
=a ¢ (ti"+b)-a c n ti/ @&i"+b)Y -rc c/2
=a ¢ {(1-n) (ti"+Db)}/ (ti"+Db)’-rc c/2

c=f A/60
rc (ti"+b)y -2 a {(1-n) ti'+b}=0

x=ti"
rc X+2 {rc b-a (1-nN} x+b (rc b-2 a =0
X ti
x={-{rc b-a A-nN}+v{{rc b-a @-nN¥-rc b (c b-2 a)}}rc
{rc b-a (1-n)}={ 60.771 13.2100-2620.000 (1- 0.7500)} = 147.785

x={-{ 147.785} + v {{ 147.785) - 60.771 13.2100 ( 60.771 13.2100 - 2 2620.000)}}/ 60.771

= 28.720
tizexp( In(x)/n )
=exp( In( 28.720 )/ 0.7500 )
= 87.953 (min)
riza / (ti'+ b)
=2620.000/( 87.953"™" + 13.2100)
62.485 (mm/hr)

REHERCER R = &t x| X ()
N: )
A: (ha)

FORUMS8
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() 3 3

m'/ha 150.000 150.000
(

(ha) 190.000 190.000

) 49875.000 49875.000

FORUMS8
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3)
5.1 A
-1
1/100(1.2 )
r=a/ (+b) [ a=3890.000 b=234.8000 n=0.7500 ]
D
At 30
f -- 0.798
A ha 15.590
r mm/hr 15.710
re mm/hr 18.852 | r*=rx 1.2
Q1 m'/s 0.651 Q1 =1/360 f r* A
C -- 48
A" km? 20.000
q m’/s/km’ 31.642 | g = C A"
Q2 m/s 4.933[Q2=q A
Q" m'/s 4.933 | max(Q1,0Q2)
Q m/s 5.919 |0=1.2 Q"
2)
Q m'/s 5.919
C - 1.800
( ) m 8.200
H.W.L m 5.700
Ho m 0.959
m 1.541 | 8.200-6.659=1.541
H.H.W.L m 6.659 | 5.700+0.959=6.659
2.1) L H
L(m) Q/C L H(m)
1.000 3.289 2.211
2.500 1.315 1.201
3.500 0.940 0.959
4.800 0.685 0.777

FORUMS8
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oKt = BURNE L ~#URKE H B ERE

P
I
X
i
el ‘I_
-]
| [ [ | |
1 2 3 4 5
HERNE L (m)
3 ( )
Q = 5.919 (m/s)
( )
Q"= 1.77 B h*
=1.77 3.500 2.500%
= 24.488 (m'/s)
Q" ( )
C
g (9.8m/sec’)
h
B
Q" >Q
4)
Hd - 6.659
v m/s 30
F m 1000.000
hw m 0.812
k 0.20
T sec 1.0
g m/s? 9.8
H m 5.200
he m 0.454
HI1>Hd + hw m 7.471
H2>Hs+hw+he/2 m 6.739
H m 7.471 | Max(H1,H2)
E.L m 8.200
8.200 > 7.471

FORUMS8
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5.2 B
-2
1/200
r=a/ (f+b) [ a=8483.900 b=47.7340 n=0.8300 ]
D
At 30
T -- 0.798
A ha 15.590
r mm/hr 131.409
01 m’/s 4.541 ([Q1 =1/360 f r A
c -- 48
AT km? 20.000
q m’/s/km’ 31.642 | g = C A"
Q2 m'/s 4.933(Q2=q A
Q" m/s 4.933 | max(Q1,Q2)
Q m'/s 5.919 [Q =1.2 Q"
2)
Q m'/s 5.919
C - 1.800
( ) m 8.200
H.W.L m 6.400
Ho m 1.228
m 0.572 | 8.200-7.628=0.572
H.H.W.L m 7.628 | 6.400+1.228=7.628
2.1) L H
L(m) Q/C L H(m)
1.000 3.289 2.211
2.000 1.644 1.393
3.000 1.096 1.063

FORUMS8
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HEAKR H ()

ARk = EURIE L ~#URKIR H B R

I
1

HEE L (m)

1
2 3

3 ( )
Q = 5.919 (m/s)
( )
Q"= 1.77 B h*
=1.77 3.000 2.500%
= 20.990 (m/s)
Q" (
C
g (9.8m/sec’)
h
B
Q" >Q
4)
Hd - 7.628
v m/s 30
F m 1000.000
hw m 0.812
k 0.20
T sec 1.0
g m/s? 9.8
H m 5.900
he m 0.484
HI1>Hd + hw m 8.440
H2>Hs+hw+he/2 m 7.454
H m 8.440 | Max(H1,H2)
E.L m 8.200
8.200 8.440

FORUMS8
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6.1 A

-(D

ha

98.800

r=a / (t+b)

30

0.764

30

2.902

1.310

4157.917

7046.937

.000
.450

.000

H.W.L

.154

o | OO | O | OO

.200

15.590

7046.937

49875.000
49875.000

mm/h
mm/h
m’/s

200
15.71
18.85

5.92
7.471

a = 3890.000 b = 234.8000 n = 0.7500
r'=rx 1.2
Q=Q"x 1.2

8.200

5.700

Ho

0.959

1.541

8.200-6.659=1.541

(H.H.W.L)

6.659

5.700-0.959=6.659

FORUMS8
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6.2 B

-(2)

ha

1457.

000

r=a / (t'+b)

30

0.

762

30

.100

.348

5853.

870

509.

717

331

)
.000
.500
-500

3

.000

H.W.L

.485

(o2} o o ~O1O

.200

15.

590

509.

717

49875.
49875.

000
000

200

131.41

5.92

8.440

Q=Q"x 1.2

8.

200

6.

400

Ho

1.

228

0.

572

8.200-7.628=0.572

(H.H.W.L)

7.

628

6.400-1.228=7.628

FORUMS8
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